Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-II (CtoD) * EXAMINATION — SUMMER - 2014

Subject Code: C322801 Date: 27-06-2014
Subject Name: Fiber Science and Technology
Time: 10:30 am - 12:00 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Options
1. Yarn and fabric can be made from :
A. Leaves B.  Auxiliaries
C. Fibres D. Plant
2. Moisture regain of wool fibre is ranging between %.
A. 28and 30 B. 24and26
C. 15and 18 D. 20and22
3. How much moisture content is found in a raw cotton?
A 12-14% B. 14-16%
C. 06-08 % D. 10-12%
4. Which variety of silk accounts for 80 % of nation’s total production?
A. Tassar B.  Mulberry
C. En D. Muga
5. The percentage composition of Lignin found in Spruce wood is %.
A. 20-30 B. 25-35
C. 30-40 D. None of these
6. A yarn composed of one or more filaments that run the whole length or indefinite
length is known as filament.
A. Staple B. Mono
C. Spun D. Continuous
7. The chemical process of burr extraction from wool is known as
A. Carbonization B.  Polymerisation
C. Dissolution D. None of these
8.  Which regenerated fibre’s spinning solution is composed of 4% copper, 29% ammonia
and 9-10% cellulose?
A. Cupra cellulosic rayon B.  Cupraammonium rayon
C.  Viscose rayon D. Acetate rayon
9.  Which fibre’s chemical name is “Polyhexamethylene adipamide”?
A. Nylon 66 B.  Polyester
C. Acrylic D. Terylene
10. A material which is hundred times as long as its thickness is called
A. Staple fibre B.  Monomer
C. Fabric D. Fibres
11. Melting point of Nylon is ranging in °C.
A.  149-160 B. 249-260
C. 349-360 D. None of these
12.  Which chemical can dissolve wool completely at boiling?
A. 5% NaOH B. 5% HCI
C. 2% NaOH D. 2%HCI
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

What is the full form of DMT?

A. Dimethyl Terylene B.  Dimethyl Terephthalic acid

C. Dimethyl Terephthalate D. None of these

The solubility of silk fibre is very rapid in . (within 1 or 2 minutes)
A.  HNOs B. Citricacid

C. CH3;COOH D. Strong HCL

A continuous filament yarn composed of only one filament is known as ____ filament.
A. Mono B. Staple

C. Multi D. Flat

Which solvent can dissolve the Acrylic fibres?

A. DFM B. DMF

C. MDF D. FMD

The primary wall of cotton structure is covered with a layer of wax.
A. Cuticular B. Circular

C. Molecular D. Rectangular

Melting point of Polypropylene is °C.

A 95 B. 130

C. 170 D. 220

The colour of the spinning solution of Cupraammonium rayon is

A. White B. Red

C. Blue D. Yellow

The spinability of a fibre into yarn depends very largely on its properties.
A. Physical B.  Chemical

C. Textile D. Weaving

Which dye is used for the dyeing of cationic dyeable polyester fibres?

A. Direct dye B. Vatdye

C. Aciddye D. Modified basic dye

The tissue is present in a structure of wool fibre.

A. Glucose B.  Fructose

C. Cellulose D. Cortex

Acetate rayon is a fibre.

A. Animal B.  Mineral

C.  Semi synthetic D.  Synthetic

Which starting chemical is used to produce Adipic acid-a monomer used to get nylon
polymer?

A. Benzene B.  Phenol

C. Aniline D. Benzoic acid

The “Tex” is defined as “The weight in grams of any yarn of meters length.
A. 100 B. 500

C. 840 D. 1000

Which is the other name of an Acrylic fibre?

A. PAN B. ANP

C. PNA D.  None of these

The Tg of CDPET is °C. lower than normal polyester.

A. 15 B. 20

C. 10 D. 05

The unit of tensile strength of any fibre is represented as

A. Grams/Tex B.  Grams/Denier

C. Grams/CM* D.  Grams/Inch®

Which newly invented fibre has high elastic nature?

A. Tencel B. Lyocell

C. Lycra D. Polynosic rayon

Textile fibres are classified according to the and the their chemical nature.
A. Physical B.  Geometrical
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

C. Sources D. Colour
Which spinning method is adopted for the spinning of polyester polymer?

A.  Wet spinning B.  Dry spinning
C.  Melt spinning D. None of these
Polyester is a fibre.

A. Hydrophobic B.  Hydrophilic
C. Natural D. Animal
Which spinning method is used for to get Acrylic filament?
A. Melt spinning B.  Dry spinning
C.  Wet spinning D. None of these

, present in a spinning bath, is responsible for adding the strength to the
viscose rayon filament during spinning.

A. H3SO, B. ZnSO,

C. CuSO, D. FeSO,

The length of a staple fibre is ranging between :

A. 1.59”and29.5” B. 1.257and19”

C. 1.0”and39.5” D. 0.5”and5.0”

Hot soap solution or dilute alkali is used to remove impurity from raw silk.
A.  Fibroin B.  Sericin

C. Fat D. Mineral salt

Weight in grams of any filament having 9000 meters length is called
A.  Tex B. Count

C. English count D. Denier

How many Carbon atoms are present in the structure of Nylon-6?
A 02 B. 04

C. 06 D. 08

Which type of polymerisation occurs during the production of polyester?

A. Polycondensation polymerisation B.  Cationic chain polymerisation
C. Co-ordination polymerisation D. Emulsion polymerisation
Which chemical group is introduced during modification of normal polyester to
convert it into CDPET?

A.  Amino B. Azo

C.  5-Sulphophthalic acid D. None of these

The linear density of staple fibre is ranging between

A. 050t0150D B. 05to50D

C. 0lto10D D. 50to100D

Polyester is also known as .

A. Dacron B. Rayon

C. Dralon D. Polyamide

Which catalyst is necessary to polymerize the propylene at 50-75°C?

A. Ammonia B.  Ziegler Natta

C. TiO, D. None of these

Cellulose chain molecule contains repeating unit in its chemical structure.

A. Alcohol residue B.  Glucose residue

C.  Amorphous residue D. None of these

Multi filament yarn is composed of continuous filaments.

A. 1lor2 B. 1lor4

C. 1lormore D. 4or6

Ina steeping process of viscose rayon manufacturing , the concentration of NaOH is
%.

A. 075 B. 275

C. 175 D. 215

Which chemical can dissolve the cotton fibre easily?

A.  40% HCI B. 70% HCI
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48.

49.

50.

5l.

52.

53.

54.

55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

C. 40% H3SO, D. 70% H,SO4

Absorbency is a property of textile fibres.

A. Essential B.  Chemical

C. Rubber like D. Desirable
Wet tenacity of Tencel fibre is Grams/Denier.

A 42-46 B. 46-48

C. 48-52 D. 52-56
Degumming of silk is nothing but a of raw silk.
A. Desizing B.  Bleaching
C. Souring D.  Scouring
Ethylene is a

A. Monomer B.  Polymer

C. Metal D. Fibre

The silk in the cocoon mainly consist of .

A. 90% Fibroin B.  76% Sericin
C. 76% Fibroin D. 90% Sericin
Which monomer is used to make polyester polymer?

A. EG B. HMD

C. PAN D. None of these

In which process the large number of small molecules combined together to form a big
molecule?

A. Depolymerisation B.  Polymerisation

C. Hydrolysis D. None of these

Which type of configuration of polypropylene has gained considerable acceptance as a
textile fibre?

A. Atactic B. Isotactic

C. Syndiotactic D. None of these
Nylonis a :

A.  Monomer B. Polymer

C. Natural fibre D.  Semi synthetic fibre

Which steps are eliminated from viscose manufacturing process, to manufacture
polynosic rayon?

A. Purification and Churning B.  Shredding and Mixing
C. Steeping and Xanthation D. Ageing and Repening

If the molecules in a long chain are too shorter, there will be a loss in its
A. Length B. Width

C. Weight D. Strength

How much moisture is composed of in Polyester at 65% RH?

A. 0.8% B. 04%

C. 12% D. 18%

More common and valuable silk warm is a :

A. Bombyx mori B.  Anthereae mylitta

C.  Anthereae pernyl D. None of these

A yarn that consists of fibres of regular or irregular length usually bound together by
twist is known as yarn.

A. Flat B. Cord

C. Textured D. Spun

At which temperature the Acrylic can be ironed safely?

A. 170°C. B. 150°C.

C. 190°C. D. 210°C.

Cotton fibres are fibres.

A. Hydrophilic B.  Hydrophobic

C. Animal D. Man-made

At least 74% of the groups of cellulose are acetylated during the
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65.

66.

67.

68.

69.

70.

manufacturing of Acetate rayon.

A. Azo B. Amino

C.  Hydroxyl D. Carboxylic

DP means degree of

A.  Polymerisation B.  Pyrolysis

C. Plasticity D. None of these
Orlonisa fibre.

A.  Synthetic B. Natural

C.  Semi synthetic D. Animal

A single molecule used to make a polymer is called :
A.  Co-monomer B.  Homo-monomer
C. Freeradical D. Monomer
Tensile strength is a property of textile fibres.

A. Desirable B.  Essential

C. Plastic D. Chemical

In viscose rayon manufacturing, which chemical is required to complete the xanthation

of soda cellulose?

A. H,S B. CS;
C. SC; D. GC,S
Linenisa fibre.
A. Vegetable B. Animal
C. Mineral D. Man-made
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